Fill in and matching for chapter 10 of Understanding Human Anatomy and Physiology 5/e
1. Endocrine glands secrete _________ into the blood. 
2. The specific body part affected by a hormone is called the __________ organ. 
3.    The antagonistic hormone for insulin is_____________
4.    Hormone secretion is regulated by __________ feedback mechanisms. 
5.     The hormone from the anterior pituitary which stimulates the thyroid gland______________

6.     Which of the following is NOT a target organ for parathyroid hormone:


A.  kidney


B.  intestine


C.  liver


D.  bone

7.     Epinephrine is produced by the:


A.  adrenal cortex


B.  adrenal medulla

8.     Put the steps in the production of aldosterone in correct order:


A.  the plasma protein angiotensinogen is converted to angiotensin I


B.  angiotensin I is converted to angiotensin II


C.  angiotensin II stimulates the formation of aldosterone by the adrenal cortex


D.  blood pressure falls and the kidneys secrete renin


9.     Hormones that are produced by cells and that act on cells or tissues in their immediate vicinity are called __________. 
10.   Choose the statement regarding peptide hormones which is INCORRECT:

A.  hormone diffuses into the cells of the target organ


B.  receptor for the hormone is located on the cell membrane of the target organ


C.  hormone causes conversion of ATP to cyclic AMP


D.  hormone stays outside of the cell, attached to the plasma membrane

11.   Choose the statement regarding steroid hormones which is INCORRECT:


A.  hormone diffuses into the cells of the target organ


B.  receptor for the hormone is located inside the cell

C.  hormone and receptor bind to the DNA of the cell

D.  hormone stays outside of the cell, attached to the plasma membrane

Matching Set 1 
1. Inability to produce concentrated urine.

2. Elevated growth hormone production in an adult.

3. Low thyroxin production, possibly as a result of iodine deficiency.

4. Lethargy and weight gain due to hypothyroidism.

5. Low blood calcium ion concentration, possibly due to insufficient parathyroid hormone secretion.

Choices

A. Acromegaly

B. Diabetes insipidus

C. Myxedema

D. Simple goiter

E. Tetany

Matching Set 2 
1. Stimulates maturation of T-lymphocytes.

2. Raises blood glucose level.

3. Raises blood calcium level.

4. Targets the kidneys.

5. Involved in the regulation of daily rhythms.

Choices

A. antidiuretic hormone

B. cortisol

C. melatonin

D. parathyroid hormone

E. thymosin

Matching Set 3

1. Calcitonin

2. Glucagon

3. Progesterone

4. ACTH

5. Norepinephrine

Choices

A. adrenal

B. anterior pituitary

C. ovary

D. pancreas

E. thyroid

Matching Set 4

Match each hormone to the correct stimulus which causes its release.

1.  glucagon

2.  atrial natriuretic hormone

3.  parathyroid hormone

4.  insulin

5.  ADH
Choices

A.  blood becomes too concentrated

B.  blood glucose level falls

C.  blood glucose level rises

D.  increased blood volume

E.  plasma calcium falls

Matching Set 5

Match each symptom of diabetes mellitus to the correct definition.

1. polyuria

2. ketonuria

3.  glycosuria

4.  polydipsia

5.  polyphagia

Choices
A.  excessive thirst

B. excessive hunger

C.  ketones in the urine

D.  excessive urination

E.  glucose in the urine

